I, 22—}

BF 1)—7 |&\|r (7) |PZBETPE(R) |BEFRT(R) |MEZHEGR) | B | TBAL
I |E®|Jr GF) 3-0 3-0 I —3 2—-1| 2
2 |2 EPE(R) 0-3 3—-1 -3 -2 3
I CECELIED) 0-3 I —3 I —3 0-3| &
W GRS ACD) 3= 1 3—1 3—1 [3-0] 1

3, 42—}

BF 277 |FEOKE (R |2LTRT (W) |BATFET(R) |[BA/NEFCGR) | B | TBAL
BEERE:XE) 3-0 3-0 I —3 2—-1| 2
2 [EXR+e G&) 0-3 31 I —3 -2 3
3 |AXPEF(R) 0-3 I —3 2-3 0-3| &
L |EZNBEF (R) 3—1 3—1 3-2 _[3-0] 1|

5, 63—}

BF 31—7 | BiE® (F) | FABPCGR) | a&2POR) |RESIRGR) | BBEX | IAAL
| |BE+® (F) 3-0 3-0 3-0 3—-0| |
2 |59%8 s (F) 0-3 3-0 2—-3 I1-2 3
3 |FEERGER) 0-3 0-3 2—-3 0-3[ &
L [RESRCR) 0-3 3-2 3-0 J2-1] 2

7, 8d—F — _

BF 4')—7 |[BHBRP(F) |[FEFR ) [P GR) R GR) FFBX | B A |
| PEHRE(F) 3-0 3-2 3-0 3—0] 1
2 |28 (R) -3 0-3 3—-1 I1-2 3
3 |ikmd (R) 2—-3 3-0 3-0 2—1] 2
b R () 4

9. 10a-F

BF 561—7 |RBFP(F) [MFEP (7)) |BIN—PCR) |REAPCGR) | BB | AL
BEEETIED) 2-3 3—1 3-0 2—1] 2
2 | hFER (F) 3-2 3-0 3-0 3—-0| 1|
3 [EBN=k (&) I —3 0-3 0-3 0-3| &
MEILLTICD 0-3 0-3 3-0 | 1T-2]3

EE

BF 61—7 Fe=® (W) | RP—B(F) | BIPGR) FFBX | B A |
| |[X&% (%) -3 3-2 I—1] 3
2 [P —®(F) 3—1 2-3 =1 1
3 |BEfEP(FE) 2 — 3-2 -1 2
4

23— F ~

BF 7—7 |ABoRT 8 | AEP(F) | RLT(R) Bax | et |
| | A&’ Re (34) 3-0 3-0 2—-0[ 1
2 |AEP(F) 0-3 3-0 I—1] 2
3 [ELP(GR) 0-3 0-3 0-2| 3
4

33— F -

BF 8 —7 |[fX—t (&) |[BmAMEGR) | BATEP (R) X | Naf |
| o= (3F) 3—-1 3-0 2—-0[ 1
2 |BHh AR (R) -3 3-2 I—1] 2
3 |m\RP(GR) 0-3 2-3 0-2| 3
4

1 43— F -

BF q9Y)—-7 Bige (19) B (GR) | AT PGR) FFEX | MBA: |
| |Zigs (3%) 3—-1 3-0 2—-0[ 1
2 |RARkP (E) -3 3-2 I—1] 2
3| XFETFEEH) 0-3 2—-3 0-3| 3
4




I 5a-—F

BF 10)—7 | eAF (W) | :ile GR) | HL1PCGR) RS
I |[EA% (%) 3-0 3-0 2—1 |
2 |[FhE () 0-3 3-2 T—1] 2
3 |[HFIP(R) 0-3 2-3 0-2| 3
4

62—+ _

BF 1 1)—7 | KER(a) |[FNEPCGR) |BHAETGR) RS
| | KERGH) 0-3 3—-1 -1 2
2 [FEF (&) 3-0 3-0 2—-0] |
3 |[®EFFHF(R) I—3 0-3 0-2| 3
4

1 73— F _

BF 127—7 [s3EaF () |TortoiseGR) | =W P GR) X | et |
| |31hEs (3%) 3-2 0-3 2—-01[ 1
2 |Tortoise(ZR) 2—-3 3—1 =1 2
3 &P (ER) I —3 I—3 0-2| 3
4

Ii:— b _

BF 13)—7 | BBT (07 | BRPCGR) | RIN=P(R) B | Maf |
| |#&B% (3F) 3—-1 2-3 -1 2
2 [BR+e(GR) I—3 0-3 0-2| 3
3 [BEN=F (&) 3-2 3-0 2—-0] |
4




19, 20—+

ZF | )—7 BET () |[2LTR® (%) FENEPCGR) |AGTPGR) | BE | B |
I |B#&+ (F) 3—-1 3—-1 3-0 3—-0| |
2[EX R+ G&) -3 3-2 3-0 2—-1] 2
3[ENEFER) -3 2-3 3—1 -2 3
4 | XEFEFRGR) 0-3 0-3 I —3 _[0-3] &

21. 223—F

TF 2V—7 |FEOE Gr) |MFRR® (&) |RFRfT(R) FFEX | NEAL |
B EERE:XEI) -3 2-3 0-2| 3
2 |'"hFig (3F) 3—-1 3—-1 2—-0 I
3 |REFEXRFP(FR) 3-2 -3 =1 2
4

23, 243—F _ — '

F 3Y—-7 AP —®(F) |[NEPCGR) | AP GR) |RaTPCGR) | BER | IRAL
| [F— (F) -3 3-0 3—-1 2—-1| 2
2 |[ZNEFE) 3—1 3-0 3—1 3—-0]| |
3[Rtk (R) 0-3 0-3 3—1 I —2| 3
4 B+ (GR) I —3 I —3 I —3 0-3| &

25, 263—F _

TF 4)—7 |BHBRP(F) |k (i) |RemPGR) |RA/NEBP(R) | B | B |
| FBHABRS®(F) 2-3 3—-1 1-3 I—-2] 3
2 [lok=% %) 3-2 3-0 3—1 3—-0| |
S EX-TTIED) -3 0-3 3-2 -2 &
4 |RZ/NBEF (R) 3—1 I —3 2-3 -2 2

27:!;|~

4F 5Y—7 F=® (W) |[NO@mP0s) | BePGR) FRBX | MR |
I |xES (%) 0-3 3-0 =1 2
2 INafdsGF) 3-0 3-0 2-0 I
3[BT (HR) 0-3 0-3 0-2| 3
4

283—F — '

4F 6Y)—7 BigtE (78) | 2LP(R) P (R) FRBX | MR |
| |Zigs (3%) 1-3 3-0 =1 2
2 |Fxb(GR) 3—-1 3-0 2-0 I
3[EPGR) 0-3 0-3 0-2| 3
4

2‘-73;|~ B

TF 7U—7 | Ke®(Ga) |lTortoise(R) |2 & &R FFEX | NEAL |
| | KEHROGF) 1-3 3-0 =1 2
2 [Tortoise () 3—-1 3—-1 2-0 |
3| &M EE(H) 0-3 -3 0-2| 3
4

30BNI—F — _

ZF 81)—7 EAT (W) | e GR) |BWmAFPGR) FRBX | NEf |
I 2% (3%) 3-0 3—-1 2-0 I
2 [ e (R) 0-3 0-3 0-2| 3
3 |@m#rHB(R) 1-3 3-0 I — 1 2
4

GN323—F — _

TF 917 | AEB(F) |RPEPCR) 469757 (R) FFEX | NEAL |
BEETIED) 0-3 2-3 0-2| 3
2 |FiFsbmdh (k) 3-0 3-0 2-0 I
3% 757 (FR) 3-2 0-3 =1 2
4
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